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SECTION A: MULTIPLE-CHOICE QUESTIONS [Total 40 Marks}]

The CORRECT answers to these questions must be indicated on the mark-reading
sheet provided Wnite your student number and the unique number 475047 on the
mark reading sheet

Question 1

Enterpnise nsk management (ERM) 1s characternised by a

1 narrow focus on hazard risks

2 comprehensive, inclusive and proactive approach to nsk management

3 functional approach to nsk management responsibilities

4 lack of consistency in terms of level of detail and reporting formats

Question 2

The purpose of an ERM policy 1s to

1 assist an organisation in integrating risk management into its management
processes

2 communicate externally that nsk management 1s being practiced

3 satisfy internal and external audit requirements

4 set out how the nsks will be managed and controlled

Question 3

What do boards fundamentally seek from an ERM system?

1 The avoidance of unpleasant surpnses and losses

2 Integration of sk management, audit and governance
3 Robust procedures

4 Competent nsk management teams

Question 4

Which of the following are benefits of ERM?

a Build confidence with stakeholders and the investment community
b Align nsk appetrte and strategy

c Link nsk with audit requirements

d Seize opportunities

Choose the correct combination:

1 a.c

2 b,c

3 abd

4 all of the above
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Question 5
Which of the following 1s typical to the traditional approach to risk management?
1 Risk management carried out in stlos and extensive use of nsurance.
2 A comprehensive approach to managing nsks
3 Integrating efforts of operations and risk managers
4 Viewing nsk management as part of everyone's daily routine
Question 6
King Il applies to
a Banks
b Insurance institutions
c Public sector agenctes

d All isted companies on the JSE
Choose the correct combination:

1 a,b

2 a,b,d

3 ab,c

4 all of the above

Question 7

In terms of the King Il Code of governance principles

1 internal audit should be mtegrated with the risk management process

2 risk management is separable from the company’s strategic business processes
3 nsk management should be performed on an ongoing basis

4 comphance should not form part of the nsk management process

Question 8

The King lll Report on Corporate Governance introduced which of the following new
concepts?

a Shareholder approval of remuneration policies

b Alternative dispute resolution {ADR)

c Directors’ performance evaluation
d Business rescue

Choose the correct combination:

1 a.c

2 ab,c

3 b.c,d

4 all of the above
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Question 9

The King ill Report on Corporate Governance was implemented it reaction to new trends
In

1 environmental practices

2 intemational governance

3 ethical practices

4 economic and social responsibilities
Question 10

A business must aspire to be a good corporate citizen by empowering the board of directors
to

a implement a code of ethics

b align information technology {IT) with business objectives

c to report on social, health and transformational policies and practices
d ensure that key nsks are quantified and responded to appropriately
Choose the correct combination:

1 a,c

2 abc

3 b,c.d

4 all of the above

Question 11
The nsk management policy forms part of the ERM

1 SCenario

2 taxonomy
3 framework
4 structure
Question 12

Which one of the following is a recognised context stage (first stage) tool to obtamn
information on the business?
1 GAP analysis

2 Database analysis
3 Investment analysis
4 PEST analysis
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Question 13
During the context stage of a rnsk study, the ERM team for House and Home elects to

examine House and Home’s financial ratios to understand the business' financial health
before moving onto the nisk identification stage. This will enable them to

1

provide a quick and relatively simple way to examine the financial position and
performance of House and Home

2 assess whether House and Home'’s records are regularly updated

3 open the dialogue with the finance department and the internal auditors in House and
Home

4 satisfy recommended ERM practices for this stage of the nisk process in House and
Home

Question 14

A nsk checkhst 1s a useful tool for a business to determine

1

its strengths and weaknesses in the micro environment

2 the internal environmental factors which may influence its performance

3 the main risks Iinked to a certamn project of the business

4 the external environmental factors which may influence its performance
Question 15

The Delphi technique is pnmarly used in the  stage of the rnisk management process
1 evaluation

2 analysis

3 identification

4 monitoring and review

Question 16

Using a nsk identification facilitator from outside the business will

1

assist with timetabling

2 avoid creating tension in the team when one I1s selected as the faciltator and others
are not

3 avold problems of tias, lack of independence, hidden agendas, single direction
approaches or pursuit of perscnal goals.

4 avoid the facilitation process or approach being constrained by previous approaches

Question 17

Scenario analysis can be used

-1
2
3

4

to record ideas in a scenano for clarification and evaluation
for technologtcal forecasting by expert scenarnos

to «dentify nsks by using case scenanos (best to worst scenarios} to consider possible
future developments
in &n interview to view a srtuation from a different perspective
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Question 18

What are the key obstacles in an organisation that prevents the integration of ERM with the
overall business strategy?

a The board does not understand or appreciate the principles and benefits of ERM

b Directors consider risk management a task for ine management and not the board
c Fear of creating a risk-averse and bureaucratic culture

d Competiton with other priorities

Choose the correct combination:

1 a,c

2 a,b,d

3 ab,c

4 all of the above

Question 19

Which of the foilowing i1s a typical output of the Risk Evaluation stage?
1 Industry betas

2 Human Resources Plan
3 Risk Register
4 Profit and loss account

Question 20
A list generated duning the nisk identification stage to categornise each nsk into a type or are
In the business, Is known as a risk

1 index

2 taxonomy

3 prompt hst

4 checkiist

Question 21

Pareto analysis 1s used to .

1 identify risks that will have a dramatic impact on business projects/activities and
objectives

2 determine the expected return of an asset in relation to its risk or nisk profile

3 structure decisions, uncertain events and values of outcomes

4 identify the causes of any nsk

Question 22

The number of years required to recover an inttial investment 1s called the
1 Net Present Value (NPV)

2 Internal Rate of Return (IRR)

3 Payback Pericd (PP)

4 Average Rate of Return (ARR)
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Question 23
Decision analysis Is a useful technique to .
1 structure uncertain events and values of outcomes
2 examine how sensitive the project outcomes are to changes in the business
3 focus on the consequences of combinations of events which are not hikely to happen
4 analyse financial models where vanables may be uncertain
Question 24
Risk appetite
a can also be referred to as nsk atttude, tolerance, preference or capacity
b 1s the amount of risk a business is prepared to treat or avoid
c has no impact on the risk strategy responses and action plan
d varies according to the objectives, culture and environment of businesses
Choose the correct combination:
1 ab
2 ad
3 a,b,d
4 all of the above
Question 25
Risk transfer 1s used {o
1 accept the nsk in the business
2 transfer the nisk to a third party
3 reduce the likehhood of a risk occurring
4 eliminate a nsk when a negative outcome 1s anticipated
Question 26
The main reason for controling nsks 1s to establish whether
1 nsk meetings are happening regularly
2 risk response actions are effectively implemented
3 a rnisk database 1s being maintained
4 meaningtul information 1s used for decision making

Question 27

The momitoring and review stage

occurs infrequently

IS a continuous process

1s implemented pnor to the annual report

is implemented to satisfy audit requirements

W N -
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Question 28
Key Risk Indicators (KRIs)
1 are useful to directors to assess whether theirr annual bonuses will be awarded
2 assist with business planning and decision making
3 are used to measure a business’s health
4 help to understand the market as a whole

Question 29

The nisk of the exposure of an enterprise to adverse events that erode profitability and in
extreme situations, brings about business collapse 1s sk

1 financial
2 economic
3 strategic
4 market
Question 30
The uncertainty inked to the recovery of outstanding amounts due 1s known as sk
1 exposure
2 default

3 credit

4 recovery
Question 31

If an individual, other than an employee, gains unauthorised access to a company computer
by way of a public telecommunications system, that mdividual 1s guiity of

1 using an unauthorised public telecommunications system

2 unauthorised access with the intent to commut further offences
3 software malpractice

4 internet misuse

Question 32

Which one of the following 1s a benefit of operational risk management?
1 Maximising day-to-day profits

2 improving financial planning and management
3 Providing a more robust ERM system and correlation of different classes of risks
4 Enabling a better understanding of compliance with legal requirements.

Question 33

Information technology tools include
1 E-commerce

2 broadband

3 E-mail

4 mtranets
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Question 34
Options, futures and swaps are financial products called
1 foreign currencies
2 Investment options
3 denvatives
4 credits
Question 35

Global warming 1s becoming a common concern all over the world Which of the following
intiatives has been implemented by the South African Government to reduce the effects of
global warming?

1 Allowances for greenhouse gas emissions

2 Environmental sustainability

3 Emission trading protocols

4 Carbon tax

Question 36

Which one of the following factors 1s important for the development of a sound economic nsk
management system?

1 An understanding of financial systems and internal controls

2 An understanding of the impact of changes in exchange rates on the demand curve

3 An understanding of the drivers of environmental sustainability

4 An understanding of changes in interest rates

Question 37

Inflation 1s defined as .

1 a sustained general nse in prices

2 a lack of famiianty with the history of changes in the exchange rate of different
currencles

3 the inabiity in the short term to obtain cash in a desired currency

4 fluctuations in exchange rates which affect cash flows from overseas investments

Question 38

rsk deals with basic macro-economic theory together with fiscal and monetary policies

1 Economic

2 Country

3 Financial

4 Political
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Question 39

Which of the following is a sk control measure in a health and safety management system?
1 Paying employees’ salaries on time

2 Having an IT back-up facility at a distant location
3 Emergency procedures such as recovery plans following a fire
4 A disclaimer delivered with the products, marketed by a company

Guestion 40

Legal nsk refers to the

1 nsk ansing from non-compliance with laws

2 number of competitors moving into and out of the market the business 1s operating in
3 uncertainty that stems from the exercise of power by government
4

exposure to a potential loss ansing from diminishing sales due to changes mn market
conditions outside the control of the business

END OF SECTION A
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SECTION B: ESSAY QUESTIONS [Total 30 Marks]
Answer ALL the questions in the space provided
Question 1 - Enterprise risk management in context [10 Marks]

Ms Maria Trevor has just been appointed as the new CEO of Local Supermarket Ltd She

approaches you as the risk manager to gain a better understanding of the implementation of
nsk management in the company

Briefly describe nsk management and the seven (7) stages in the nsk management process
to Ms Maria Trevor to give her a better understanding of the implementation of nsk
management in Local Supermarket Ltd
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Question 2 - Enterprise risk management process {14 Marks]

21 |dentify and describe four {4) process activities for nsk analysis which can be used by a
business in the ERM analysis stage (8)
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2 2 ldentify and distinguish between the three (3) man atttudes towards risk (8)
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Question 3 - Internal influences: Micro factors [6 Marks]
Define and expiain the importance of operational nisk
END OF SECTION B
[TOTAL 70 MARKS]

©
UNISA 2015




16 RSK2601
OCTOBER/NOVEMBER 2015

DO YOUR ROUGH WORK HERE - NO ROUGH WORK WILL BE MARKED.




17 RSK2601
OCTOBER/NOVEMBER 2015

DO YOUR ROUGH WORK HERE — NO ROUGH WORK WILL BE MARKED.




-

dmmara UNIVERSITEIT VAN SUID-AFRIKA
EXSAMEN-MERKLEESBLAD

UNIVERSITY OF SOUTH AFRICA U N I SA

EXAMINATION MARK READING SHEET

* PART 1 (GENERAL/ALGEMEEN) DEEL 1

STUDY UNIT a.g. PSYI00-X INGTIALS AND SURNAME
STUDIE-EENHEID kv FEY1000 VOORALEFTERS EN VAN rrev-s = ie—
DATE OF EXAMINATION
VAN EXSAMEN

EXANTINATION CENTRE (E.G. PRETORIA)
EKSAMENSENTRUM (BV PRETORIA)} -—

SYUDENT NUNBSER

UNIRLE PAPER HO

UNIEKE iBﬁL NA

€03 ¢0 0 rD2 03 O
c13cta e13 el €11 o1
€232y £2r 220 €21 €21

3o £33 cdy
4y cd) @ 42 ¢4)
tha By 5 5y

53 €52 62 cB £G2 £H
]y ca e}y e
€83 £8> r8> rfa B c§y
€91 €97 £91 £91 92 91

09 03 ) €03 D2 €0 ed3 cha
AERAERAENENAENAFNI TN ]
£22 603 €21 £23 23 £21 £33

3 c3acly 3r3rc3aciy
41 41 4 E tds td1 cda
£53 c§3 53 3 £52 €51 52

£g§1 cb 2 c62 £62 £63 £h3 tfa
tfachath e paciereh
g1 ¢fa ¢§r £81 B B 2 ch2
e9y r91 ¢92 €91 91 192 82 o

For use by examination invigilator

Vir gebrutk deur eksamenopsiener

¢

BELAMGRIK
1 GEBRUIK SLEGS N HB PQTLOCGD OM HIERDIE BLAD TE VOLTOOL
2. MERK AS VOLG. wie
3. KONTROLEER DAT U VOORLETTERS EN VAN REG INGEVUL IS
4 VUL U STUDENTENOMMER VAN LINKS NA REGS IN
£ KONTROLEER DAT U DIE KORREKTE STUDENTENOMMER VERSTREK HET
6. KONTROLEER DAT DHE UNIEKE NOMMER REG INGEVUL IS
7 MAAK S5EKER DAT NET EEN ALTERNATIEF PER VRAAG GEMERK 1S
& MOENIE YOU NIE

IMPORTANT
1 USE ONLY AN HB PENCIL TO COMPLETE THIS SHEET
2. MARK LIKE THIS, »8
A CHECK THAT YOUR INITIALS AND SURNAME MAS BEEN FILLED IN CORRECTLY
4. ENTER YOUR STUDENT MUMBER FROM LEFT TO RIGHT
6 CHECK THAT YOUR STUDENT NUMBER HAS BEEN FILLED IN CORRECTLY
B CHECK THAT THE UNIQUE NUASBER HAS BEEN FILLED IN COARECTLY
7 CHECK THAT ONLY ONE ANSWER PER QUESTION HAS BEEN MARKED
8. DO NOT FOLD

PART 2 (ANSWERS/ANTWOORDE) DEEL 2

1 tya )tz rdz tha B haclaccahich 7% r11c23 o321 cda eh2 - 108 13 c23 £33 c4a ch
2 13 €23 £ 3 r41 ha ey €11 121 ¢32 43 rha n t13e23 31 cda cha 107 clrc2rc3zcdycha
3 cfy ey £33 €41 cha 3 1y e2>c3 rdaeha n t11¢22 £33 £4) 5> . 108 1121 3304 el
4 112y c3 42 53 39 r11¢2rrcd cdscha /] 111023 c37 td) c5r 109 cl1t21cdreddcha
5 c42 €21 £33 €41 s ‘ 4 c11c21c3 cdd <5 B t131¢c21 £y cda 52 MO  c11c21 €31 td41 83
& 12 €23 ¢33 rda t53 \ 4 £93 022 €33 tdd 53 76 £12¢123 ¢33 cd1 cha 1M1 132 ¢22 33 cda cha
7 €14 €27 £33 cd2 <52 42 rc11¢c21c3a tdacha 7! tiic2ac3a cd eha N 112 13 ¢231 3242 cka
8  t11:drt3rcddchaf - 43 ¢12¢23 ¢ rda B3 78 112331 cdd B 13 c12¢21 131 ¢c43¢c5
)] )1 21 33 €41 <53 - [} ry3rZ3e3rcd1 cha 7 r13 213> e43 53§ ., 114 ddacit3rdach

. 10 o322 c3redscha - 45 ri1¢2xedy cda ki B0 115233 cdrchd N 5 1123 €32 043 ¢52
M ey e edrchaf | 46 ct13¢c2a 1 cdacha 81 13123 €31 o4 cKaf, 1 €12 c21 £33 eda 53} - -
12 efachicdacdacsyy "7 47 rc13¢c23 ¢33 tda ha 82 c1xrc23c3a cda cha 1 cir 23 £32 ¢4 tBa -
13 13122 £33 cda cha _ 48 €11¢c232 37 43 52 B it 12133452 R
4  c11cd3 3 e4r 49 11523133 cda b B a3 2 rf1¢21 ¢y cda cha _

r 15 clacacdreddeSsl’ o1 S0 clackiedycddchy « % il 1 1121 £31 43 :5:%
6 13123 £3y 143 tha - 3] 13 £21 £32 c4a 52 23 EN{:}] 11 1321 c32 cd2 53
17 threxedredachof T 52 12 r:,::;: c. e tYs €23 €3> td3 5 - 12 cddacdrc3acda St T
18 ctrclrcdrcda S cf3¢22 £32 43 K2 183 Mmththoh e
19 theadachrhof 54 b 8] 89 33 c23e3s cgr 53] 124 t1ac2icacdach N
W cizcrc3rcdaesaf .. i 90 1323 c3r edachaf L 128 c13c23 ey cd2 el -
A circrl 3 ¢H rda 52 O ctac23c3) tdaehal - 128 c13¢23c3a eda e .
7 thichach 13 £22 €33 cda ¢Sy 0 clac2acIycdacefaf + - 177 clac2ac31cda cha
8 acaciacdd 58 rclar2acYicdorcha 93 c13¢21 131 ¢4 15 ' 128 «13ce2yr3> cdaeSyf
H ittt b B  cf3c23 3 c4a1cha 84 ttac2acdicdreha 128 12 c23 c32 edach

- 2% 93¢ 338253 - [*1] £y3 £21 €33 t4a1 cKa 9 c£13c21133 4 chaf | 120 1321 c3)cgd 53] -
2B 1IN 34 5D X 61 r1:¢23c3d gy ek 96 1202732 rdr efaft 131 1222033843 H)
7 rcixrc21:3) 41 53 4 62 clacacircdd i 97 112332 42 (K2 - 112 13 ¢23 €33 t43 c5y -
M cliccPrcqacsay | 63 t13c22¢c3) cddehap B c11c22c32 4115 ¢ 13 13 c22 31 cda ks
% tjschracdricdacha % 65  irile eI cddcha 9 . circ2rcacdrcbaf 138 Mac21r3rcdaceha
. B ek ] B ool cda ik 100 o112 032 cda eafi e 1B it cdacdach

' N acaacdacha . 66 1312213 cda By =7 101 13122 c3r 4o €hd - 136  £12¢22 £33 £y 5y B
32 o1y 23 c33 42 ¢y =1 6 13123 ¢33 c43 By 102 12123 037 4y oK 137 3 c3darcsy eSaf ~
k< BN PRy N PR R S) B 68 t131t23c3 cdaeh: 103 c11¢23 32 cdy 5 13 ttaczitiicdacha

' M hrr X drh v 8 ety edrdyeSap 1 183 c1rc2acdacdacha 139 ttacd ¢33 cdo (52
35 ctrc2ac3acdacha 0 i) 11213 tha rs:‘ R 05 12122 c33 cda 53] 14y 11 c21 31 cda cSa

Tar

H =

wnsA Mo




